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ONZHYRCHA AN S (FADQ 85 4,800
OYEHLEANLS(6T) 3,800
OZAHZAAIL(3T) 3,700
QI=RRXNEAS 4,800
ONMSEINEAE(3S) 1,900
=X MASEsIH JIsXE 4,340 4,600 A 260
202 O4dl 540 600 A60
01 =LAl 540 600 260
OHXNAMEsIH HE & HE 540
207 S SOHEH 3,800 4,000 A 200
03 AlE& 2| 3,800 4,000 A 200
OCZEEZA ¥ AFS 22 XA 3,800
g2 E MY 2,800 3,000 A 200
206 = Hl 2,800 3,000 A 200
01 MZHl 2,800 3,000 A200
odgss ¢ MY 2,800
EMgA2e ¥ 2RHNL 65,000 118,800 A53,800
201 ZEH2IH] 65,000 40,000 25,000
01 AR 2&cldl 65,000 40,000 25,000
oA=L AXN(1S) 50,000
O=2XA ANERX 24 JUorEmd 15,000
XA FAOIME HE 180,000 0 180,000
401 AIEHIZL RO 180,000 0 180,000
01 Al&HI 180,000 0 180,000
OYRXA HAA(EH) 180,000
YALXA 29Y 59,346 56,316 3,030
= 27,540
& 31,806
101 el H] 59,346 56,316 3,030
= 27,540
31,806
10 JIZAH22AASES 59,346 56,316 3,030
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=2 231,123
= 196,261
206 T2l 427,384 104,139 323,245
= 231,123
= 196,261
01 Mzt 427,384 104,139 323,245
OYIHYYAN(8T) 353,250
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= 160,261
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2 36,000
= 36,000
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dagonzy Y 30,000 60,000 30,000
= 15,000
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A IIEAYAE A

B OlEUc O ZASAN(SHLSL /S - 5E)
ol Mol HM2 B2 CLE-E)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
206 M= dl S 4,700
01 XZHl 9,400 7,800 1,600
OF4&SIHE S ==l 9,400
2 4,700
= 4,700
A B2 40,139 44,139 24,000
AM2E X RAE=22 9,920 13,920 24,000
201 LEH23H] 9,920 13,920 24,000
02 =224 9,920 13,920 24,000
Ozits & AE2HH] 9,920
SHEIE 22t 30,219 30,219 0
201 B2 I 30,219 30,219 0
02 23244l 30,219 30,219 0
oxzg=2d ¥ RA2Aels 30,219
HH2ARH (OIS MAIE L) (JIEHIIE 1,168,733 1,086,622 132, 111
olzi 2oy 1,124,629 997,934 126,695
SS& 24d XA 1,124,629 997,934 126,695
101 el H] 1,054,409 933,494 120,915
01 JIE= 617,973 583,412 34,561
o== 575,745
OHZH 5,750,830 x1&Z ~ 123 69,010
Ogery 307,831
-6 2,173,000 x6E 122 156,456
1= 1,576,820 x8H x 12 151,375
(@JRES 102,285
-zt 2,626,500 x1H « 123 31,518
- A 1,965,740 x3H x 12 70,767
OJlsA 96,619
-2 2,191,650 x2H x12& 52,600
-8=2 1,834,100 x2ZF 123 44,019
ORI, 42,228
O&z2=¢ 506,735,000& *1/12 42,228




SH: JIESIMAIE A
HE: #H2AAY (OIS MAIE L) (OIEHIIE)
chel: ol 2| (9l &2
SA BB H(BH) - MBAY - B2 Ofl & o gg;ﬁ HRs2

02 +g 138,350 140,693 2,343
ON=2Y 16,800
OB Xt 40,0002 x20% * 122 9,600
LTS 20,0002 ¥30& * 122 7,200
CETIEESN= 5,667
Ozt 51,4002 x38 x4 3] 617
Onsstn 42079021 3% x43| 5,050
O™2ALIIAI 18,480
025 01 & 130,002 * 124 *122 1,560
020~25140] 0 110,000 %424 *122 5,280
O15-201 01 2t 80,0002 x6% *122 5,760
O10~15101 0 60, 00021 424 122 2,880
O5~1001 0 50,0008 *5% *12% 3,000
CEEEEEN 13,800
OUE 50,0002 <232 * 1224 13,800
OUHLBLRAL+Y 17,132,3002 +122 *4.8% 9,869
CERR-E R 15,720
OolzgRsy 70,0002 ¥ 132+ 122 10,920
ool L 80,0002 42 x 122 3,840
ONERSH2 40,0002 x2 2+ 122 960
ONAADRAL  7,325%%20%30AI 24122 58,014

03 FUZAY| 34,320 32,760 1,560
OZAZAY| 130,000l x2224 * 122 34,320

04 DESEH| 34,200 30,840 3,360
0452 140,000 %124 +122 1,680
0672 130,000 * 1924 *122 29,640
0892 120, 0002 224 x 122 2,880

05 YEEIY 50,674 48,600 2,074
O EFIH| 506,735,0002 *1/12120% 50,674

06 JHHXIRL] 84,625 81,000 3,625
GBI T 506, 735,0002 *16. 7% 84,625




S OFEMAIE A
B #H2AAY(OISSAMA- L) (OIEHIIE)
chl: QA2 A (ctel &
SNBSS - HRAY - BHES 0l &k o4 e HlnE2
07 HII2 4| 17,593 16,189 1,404
O] 69,009,960 *1/12%1/30x 11 2,109
O==H 506,735,000 *1/12%1/30%11 15,484
08 JIEAE = 76,674 0 76,674
O3/ A YA E=H| 62,400
ogaas HIlw=H| 9,000
oxzu=2=Rg 5,274
203 YRFL&H| 8,120 8,040 80
01 JI22dIRF=L8 3,000 3,000 0
(OF~FS; 3,000
02 FRAIHRFEY| 920 840 80
OF&AIILZ 40,0003 »23% 920
04 REN2ITRFLEY 4,200 4,200 0
©302! Olat 350,000& ~12& 4,200
204 XA 62,100 56,400 5,700
01 HMSHSAAY 6,000 6,000 0
(OFEFS, 400,000 * 123 4,800
©OmIFs; 100,000& 12 1,200
02 Hz=2=xHl 43,500 37,800 5,700
O4= 400,000& x1H«12& 4,800
052 250,000 18123 3,000
Ob6= 155,000 «7H x 122 13,020
or= 140,000 x12H * 123 20,160
O8= 105,000 «2H «12& 2,520
03 SEZgR-HE =4 12,600 12,600 0
otHel g =l 50,0003 *21H~12& 12,600
JlZ2&Hl 44,104 38,688 5,416
FA2Y =23l 38,604 32,938 5,666
201 ZBH2EH] 20,356 17,898 2,458
01 AtR2teltl 17,856 15,898 1,958
OFA2YE AR 2teld] 17,856
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SN OIEIMEST A
. HYESIEH(IISAMS X LA)(IIEHIIE
chol: o2l 2ot (eH9l: 22
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2

-6 2,252,000«3% x12& 81,072
-2 2,250,500«5F 12& 135,030
-8=2 1,919,200« 1 x12& 23,031
O 7 27,460
- A 2,288,300« 1¥ *12& 27,460
©OFS{eE=, 24,961
(OFSF=t =y 299,526,000& *1/12 24,961

02 =¢ 75,709 73,719 1,990
oNn=s+g 12,960
OB 2 Xt 40,0003 119 =128 5,280
OR2LItE 20,000& *32Y +x12& 7,680
ostHl X< 5,060
Oosgu 50,310& *x3H 43| 604
Ounsstul 371,290 x3H x4 3| 4,456
OFIZ=YItar=a 13,080
0254 0] & 130,000& *3H *12& 4,680
0O20~25= 0] &t 110,000 x4 x12& 5,280
O15~20= 0| &t 80,000& x2H x12& 1,920
O5~104 0| &t 50,000 x2H = 12& 1,200
OR k== 6,360
OFiFS 50,000 x9H »12& 5,400
023 40,000& x2H x12& 960
olis=23=+Y 10,270,600%4.8%*12& 5,916
OS2 Y 8,160
Oozgesy 70,000 x8H x12& 6,720
O g4 80,000& x1H x12& 960
OXsted+Y 40,0003 x1G «x12& 480
OAlZ2t2AZ2E 7,3253*11G *25A] 2+ 122 24,173

03 JAHSAH| 17,160 17,160 0
O&FHZAH| 130,000 *11Hx12& 17,160

04 nE2 =4l 17,160 17,160 0




SH: IERMEST A
M HHSHAH (OISANMS2XA)(IIEH/IIE)
chol: o2l 2ot (eH9l: 22
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
052 140,000 1H x 12 1,680
O6= (H A 130,000 «4H x12& 6,240
o7= 130,000 *5H x 123 7,800
O8= 120,000& *1H 123 1,440
05 ZESFOHI 29,953 25,281 4,672
OYESOtyl 299,526,000 *1/12%120% 29,953
06 JtAHXI&HI 50,021 42,135 7,886
OQItAH XA Hl 299,526,000& *16.7% 50,021
07 HItEAHH| 9,153 7,725 1,428
QI &l 299,526,000 *1/12%1/30%11 9,153
203 YRFLAY| 3,440 3,440 0
02 AP RFEI 440 440 0
O& A3 40,0003 11 440
04 RBEN2IYRFLAYI 3,000 3,000 0
©@15¢el0|at 250,000& * 123 3,000
204 XA 27,900 29,100 A 1,200
01 HAéZHRAHAH 1,800 1,800 0
(OFAFS; 150,000& = 12& 1,800
02 Hz=2xHl 20,100 20,100 0
OFR:1ES] 20,100
O5= 250,000 1 x12& 3,000
O= 155,000& 4 H =123 7,440
O7= 140,000 *5H 12 8,400
O8= 105,000& *1H =123 1,260
03 SEZgR-HE =4 6,000 7,200 A 1,200
OotHel g =l 50,0003 *x10H ~12& 6,000
Jl2&dl 27,624 18,261 9,363
FA2Y =23l 22,124 12,511 9,613
201 Let3| 10,732 3,601 7,131
01 AtR2teltl 9,692 2,891 6,801
ORM2Yg JIE2ZH| 9,692
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SN MEIMLET A
BB IR O ZA2 AA(SHHLSL/5Y - 5E)
el BAIR R (S5l & 2
SH-EH . C(BH) - NRAY - BES 0 Ak o4 glggfg bRz
OFAZE L RNSS 27,922
ogxzel 10,000
HYSH AU OSBRI L) (IIEHIIE) 647,084 626,322 20,762
ol 2 | 617,022 600,408 16,614
DL X 617,022 600,408 16,614
101 oIty 579, 142 561,328 17,814
01 =3 347,133 338, 199 8,934
o=3 320,430
o 233,695
52 2,961,300%1*1% » 12 35,536
62 2,252,000 *2 122 54,048
72 1,715,600 7%+ 122 144, 111
SIECEY 49,822
~Q1 A} 2,075,900+28 * 122 49,822
0JIsH 36,913
-82 1,786, 1002112+ 12% 21,434
92 1,289, 90021 * 12 122 15,479
O803 26,703
oF-ERN= 320,430, 00024 %1/12 26,703
02 4% 93,103 85,666
ONELL 11,520
O 2R 40,0008+ 142 122 6,720
ORYINE 20,0002 %202 * 122 4,800
CETCE S 5,060
Ossy 50,3102 +32) 43| 604
@In=tY 371,290 +3% #43] 4,456
0y24+g 14, 160
0251 0] 4 13,0002 x22 122 3,120
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